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Solve the all pair shortest path problem for the digraph with
the weight matrix given below:-
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Write an pseudo code for the solution to the problem that
expect to satisty the transitive closure properties to transform
the adjacent matrix to path matrix.

OR

Obtain a optimal binary search tree for following nodes(do, if,
int, while) with following probabilities( 0.1,0.2,0.4 ,0.3).

Write the algorithm to compute the 0/1 knapsack problem
using dynamic programming and explain.

Using backtracking enumerate how can you solve the
following problem 4 queens problem.
For the following graph solve the Hamiltonian cycle.

OR
Apply branch and bound algorithm to solve the travelling
salesman problem for
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